
14

12
2 4

3
8

10
9

11
6

13

15

5

16
1

Kit 7770

Hinged door with 
Electric strike EC

Pos Description Art.no

1 Screw MF6S M8x35 Din 7991 89050138
2 Str. plate tube Solid euro 36700540
3 Narrow lock SAG 18405 WO 45mm 89051064
4 Angle 499 Euro electric 36700051
5 Bolt M6S M8x35 89050042
6 Electrical strikes 14/24v 89100094
8 Screw MF6S 5X16 89050136
9 Electrical strikes Euro 36700050
10 Screw MF6S M8x16 89050109
11 Spacer 62x23x5 36700053
12 Spacer 18x10.5 36700045
13 Screw MF6S 4x10 89050133
14 Locking tube EC L=2100 hinged 36701140
15 Screw M8x110 M6S 89050058
16 Door stop w. bumper MHL 36900109

Default(montera 
låsrör)/QTY.

2
1
1
1
3
1
2
1
2
1
2
2
1
2
2

 
 

 

88754495

00
04

61
99

Sm
ar

Te
am

 ID
: 

Article no.: www.troax.com

Follow Me

0.2



6

1

19
1

6

4

14
6

1

191

6

Hinged door with 
Electric strike EC

Kit 7770

Pos Description Art.no
1 Screw MF6S M8x35 Din 7991 89050138
4 Bolt M6S M8x35 89050042
6 Nut M8 Tensifl.Din 6923 89050525
7 Door UX450 P 2100x980 L/R 36098100
9 Narrow lock SAG 18405 WO 45mm 89051064

14 Screw Ø4,8x16 89050083
19 Hinge Fensing fzb 89050759
21 Screw MF6S M8x45 89050139
22 Door stop w. bumper MHL 36900109
23 Kit Knob and handle 36703000

Ant.
8
8
9
1
1
4
2
2
2
1

 
 

 

88754495

00
04

61
99

Sm
ar

Te
am

 ID
: 

Article no.: www.troax.com

Follow Me



X

X

X

X

Kit 7770

Hinged door with 
Electric strike EC

Default(Borttagna 
distanser)/QTY.

8
8
2
9
1
1
1
1
2
1
1
4
2
2
1
2
2
2
1
1
1
2 

 
 

88754495

00
04

61
99

Sm
ar

Te
am

 ID
: 

Article no.: www.troax.com

Follow Me

0.2


	FM Blad 1
	Drawing View18
	Detail View I (1 : 6)
	Detail View J (1 : 5)

	FM Blad 2
	Drawing View1
	Detail View A (1 : 10)
	Detail View B (1 : 10)
	Detail View C (1 : 5)
	Detail View D (1 : 10)
	Detail View E (1 : 10)

	FM Blad 3
	Drawing View7
	Detail View F (1 : 8)
	Detail View G (1 : 8)


